DopMyIbl CIOXEHUS



DopmMyIbl CNOXEHUSA

* CMHYC CyMMbI

sIn(x + y) =SIn XCoS y+cosxsin y

* KocrnHyc cymmbl

cos(x+ ) =COSXCOS y—sin xsin y



BbiBOO doopmyn

* CHYC pasHoCTU

sin(x — y) =sin(x+(—y)) = sin xcos(—y) + cos xsin(—y) =
=sin X CoS y + cos x(—sin y) = sin xCOS ) —COS X SIn y

e KOCMHYC pa3HOCTH

cos(x —y) =cos(x+(—y)) =cosxcos(—y)—sin xsin(—y) =

= COS X COS Y —sin x(—sin y) = COS X COS y +Sin xsin y



* TaHreHc CyMMmbl

sin(x+y) SINXCOSY-+COSXSINY (:cosxcosy,npu

g(x+y)= : :
glx+y) cos(x+y) cosxcosy—sinxsiny cosxcosy#0)

Sin X cos y N Cos xsin y sin x N sin y

_ COSXCOSY COSXCOSY  COSX COSy  Igx+igy
COSXCOSy Sinxsiny 0 sinx siny  1—fgxtgy

COSXCOSY COSXCOS Y COSX COS Y

* TAHreHc Ppa3HOCTH

[gx —1gy
1+ tgxtgy

1g(x—y)=



[TpuMepbl NPUMEHEHUSA POPMYIT

1. Bblumcnutbsin75°  mcos75°

PelueHune: Bocnonb3yemMmcs TeM, YT = 45° +30°
sin 75° =sin(45° +30°) = sin45° cos30° + cos 45’ sin 30° =
_ﬁ.ﬁ+«5.l_\%+«5_\%+«5
2 2 22 4 4 4
cos 75" = cos(45° +30°) = cos 45° cos 30" —sin 45° sin 30° =
V243 V21 N6 V2 642

2 2 2 2 4 4 4

OTBET: in75° = ﬁzﬁ,cosﬁo = V6 -2



2. [lokaszaTtb TOXXAECTBGIN(7w + x) = —sin x

PelueHue:sin(x + x) = sin 7z cos x + Cos 7 Sin x =
=0-cosx+(—1)sinx =—sinx

SIN(7T +x) =—sInx

. . 4n T 4r . 1
3. BbIUNCUTD: ¢in 27 cos 2 4 cos —% sin -

|
PelleHune: «CBeﬁaeM» ° CMH% CyI%/I?VIbI
OAaHHOe BblpaXkeHue

. 4r T dTr . =« Y S
SIN—COS— 4+ COS—SIn— =SIn(—+—) =
15 15 15 15 15 15
:Sil’ls—ﬂ: :Sil’l£= sin600 :ﬁ

15 3 2



YnpaXXHeHus

1. TMNpepctaBmsl05’ Kak cymmg0’ +45°
BblYMCnIUTEx)sin105°, 6)cosl105°, 6)tgl05’

2. YNpPOCTUTE BblpaXkeHue:

a)sin(a + B)—sma cos B 0)cos(a — ) —cosa cos 5
o 1 e)sin(o + B)+sin(ct — B)
0)sin(—+o)——sina
3002 LTy N2
g)sin a sin B +cos(a + B) Ze)ERs(@ 4) 9)
2) 192,22 +120,92 tg(45 +a)—-1ga

1-¢g2,22 120,92 = tg(45° + o )tga



3. [lokaxute ToXXOeCcTBO:
a)sin(a + ) +sin(—a ) cos(—) =sin S cosa
6)cos(a + )+ sin(—a ) sin(—3) = cosc cos B
6) tga +1g[3 N tga —tgf3 5
igla+p) 1gla—p)

4. Hangute 3Ha4YeHme BblipaXXeHus:

a)cos107° cos17’ +sin107° sin17°

6)sin36° cos24’ +cos36’ sin 24’

8)sin Sx cos3x —cosSxsin3x

2)cos7xcos4x —sin7xsin4x



1.
2.

[NomawHas paboTa

Bbiuncnure:sin15’, cos15°, tg15°

YNPOCTUTE BblpaXeHUe:

St 3 . Sm . 3m
a)C0S — COS — +SIn — sin —
8 8 8

. 27 T 2 . &
6)sin — oS — + C0S —sin —
15 5 15 5

T T . T . T
8) COS — COS — —SIn — Sin —
12 4 12 4

. T T T . T
2)sin — cO0s — — COS — Sin —
12 4 12 4



[TpoBepoyHas paboTa

BapuaHT 1 BapuaHT 2
1. YnpocTtuTte
sin(% —X) cos(E — X)
2. Hawnaute 3HayeHue Bblpa>l<e3HI/IFI
sin 63" c0s27° +¢c0s63°sin27°  sin77° cos17’ —cos77"sin17"
cos125° cos5° +sin125° sin 5° cos51° cos 21’ +sin51° sin 21°

3. Bbluucnute s~ —«), €Cnu
4

g = g0 ==
g ) g 3



